Oaumnuana «JlomoHocoB» mo mHpOpMaTUKE
2024-2025 y4ebublii 10o/]. 3aKJIIOYUTEJIbHBINA 3Tamn
Pabora ygacTnuka c id 3asasku 1398670, norunom inf25f 306

CBOILHbIﬁ NTOTr 110 BCEM 3aJavYaM B HpOBepﬂmmeﬁ cucremMe

RunID Time Username Prob Lang Result Tests Score
322 3:49:07 inf25f_306 4 g++ Partial solution 1 O
278 3:37:35 inf25f_306 5 g++ Partial solution 1 O
184 2:45:51 inf25f_306 3 g++ OK 23 100
95 1:26:48 inf25f_306 2 g++ 0K 28 100
8 0:30:17 inf25f_306 1 g++ Partial solution 12 32

232 TexHmuYeckKux 6Oaiia
66 MTOTOBHX 0ajiIoB
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[1] #include <iostream>
[2] #include <vector>
[3] #include <queue>

[4] #include <algorithm>

(5]

[6] using namespace std;

[7]

[8] woid printV(vector<int> v)

(21 {

[18] for (int i = 8; i < v.size(); ++i)
[11] cout << v[i] << " '

[12] cout << endl;

(131}

[14]

[15] int f(int n)

(161 {

[17] if (n % 2 == @)

[18] return n / 2;

[19] return 3*n + 1;

(201}

[21]

[22] void buildWay(vector<int> from, vector<int> &way, int start)
(2311

[24] int i = from[start];

[25] while (from[i] != -1)

[26] {

[27] way.push_back(i);

[28] i = from[i];

[29] }

[38] reverse(way.begin(), way.end());
(311}

[32]

[33]1 bool checkY(vector<int> &s, vector<int> &from, queue<int> &q, int n2, int x, int y)
[34] {

[35] if (y < 1e7 && s[y] == -1)

[36] {

[371] s[y] = s[x] + 1;

[38] from[y] = x;

[39] q.push(y);

[49] if (y == n2)

[41]

[42] cout << s[y] << endl;

[43] if (s[y]l » 1)

[44] {

[45] vector<int> way;

[46] buildWay(from, way, y);
[47] printV(way);

[48] }

[49] return false;

[50] }

[51] }

[52] return true;

(531}

[54]

[55] int main()

[56] {

[571] int nl, n2;

[58] cin >> nl >> n2;

[59] if (nl == n2)

[e@] cout << @ << endl;

[61] else

[62] {

[631] bool flag = true;

[64] vector<int> s(le7, -1);

[65] vector<int> from(le7, -1);
[66] queue<int> q;

[67] s[nl] = @;

[68] q.push(nl);

[69] while (lq.empty() && flag)
[70] {

[71] int x = g.front();

[72] q.pop();

[73]1 int y = f(x);

[74] flag = checkY(s, from, g, n2, x, y);
[75] if (flag)

[76] flag = checkY(s, from, g, n2, x, x*2);
[77] if (flag 8& (x-1) % 3 == @)
[78] flag = checkY(s, from, q, n2, x, (x-1) / 3);
[79] }

[88] if (flag)

[81] cout << -1 << endl;

[82] }

[83]

(841}



ITocvlnka 1o 3amade 2
[1] #include <iostream>
[2] #include <vector>

[3] #include <algorithm>
[4] #include <string>

(5]

[6] wusing namespace std;

[71

[8] wvoid printV(vector<intr v)

(el +

[1@] for (int 1 = @; 1 < v.size(); ++1i)
[11] cout << v[i] << " ';

[12] cout << endl;

(1317

[14]

[15] bool eq(vector<int> x, vector<int> y)
[16]{

[17] if (x.size() != y.size())

[18] return false;

[19] for (int 1 = @; 1 < x.size(); ++1i)
[20] {

[21] if (x[1] != y[i])

[22] return false;

[23] ¥

[24] return true;

(251}

[26]

[27] bool cmp(vector<int> x, vector<int> y)
(28] {

[29] if (x.size() » y.size())

[38] return true;

[31] if (x.size() < y.size())

[32] return false;

[33] for (int i = 8; i < x.size(); ++i)
[34]  {

[35] if (x[1] > y[i])

[36] return true;

[37] if (x[i]1 < y[iD)

[38] return false;

[39] }

[4@] return true;

(417}

[42]

[43] void updateX(vector<int> &)
(44714

[45] for (int i = x.size()-1; 1 > 6; --i)
[456] while (x[i] »= 52)

[47]

[48] x[i] -= 52;

[49] x[i-1] += 1;

[58] 3

[51]  if (x[@] »= 52)

[52]

[53] x[B] -= 52;

[54] x.insert(x.begin(), 1);
[55] }

(5617



[57]
[58] int main()

(5914

[60] int n;

[61] cin >> n;

[62] vector<vector<int>> a, a_sorted;

[63] for (int inp = @; inp < n; ++inp)

[64] {

[65] string s;

[66] cin »> s;

[67] vector<int> x;

[68] for (int 1 = 0; 1 < s.size(); ++i)
[69] {

[70] if (A" <= s[i] && s[i] <= 'Z')
[71] x.push_back(s[i]-'4a");
[72] else if ('a" <= s[i] && s[i] <= 'z')
[73] x.push_back(s[i]-"'a"'+26);
[74] else

[75] {

[76] if (s[i] = '~")

[77] x[x.size()-1] += 52;
[78] else if (s[i] == '~")

[79] x[x.size()-1] += 52%2;
[88] else

[81] x[x.size()-1] += 52%3;
[82] updateX(x);

[83] }

[84]

[85] a.push_back(x);

[86] a_sorted.push_back(x);

[87] ¥

[88] sort(a_sorted.begin(), a_sorted.end(), cmp);
[89] for (int 1 = @; 1 < a.size(); ++1i)
[ge]

[91] if (leg(a[i], a_sorted[i]))

[92] cout << i+l << ' '

[93] 1

(o417



ITocerika o 3aJade 3
1 #include <iostream>
#include <vector>
#include <sest>

O

4 #include <algorithm>
2
6 using namespace std;

int INF = 1le9;

wvold printV(vector<int> w)

{
for (int i = 0; i < wv.size(); ++1)
cout << w[i] << ' ';
cout << endl;
}

wvold prints(set<pair<int, int>> s)

{
for (auto i = s.begin(); i !'= s.end(); ++i)
cout << '"({' << i-»first << ", " << i->second << ")} ";
cout << endl;
}

24 wvoid djkstra(vector<vector<int>> =8, wvector<int> &dist, wvector<int> &from, int start, int n)
25 i
& dist[start] = 0;

set<pair<int, int>> g

d.insert (make pair (0, start)):

while (!qg.emptyi())

{
int x = g.begin()-»>second;
g.erase (g.begin(}):
for (int i = 0; i < m; ++i)
{
if (i !'= x && dist[i] > dist[x] + s[x][i])
36 {
g.erase (make_pair (dist[i], 1)):
dist[i] = dist[x] + s[x][i]:
from[i] = =
d.insert (make pair(dist[i], i)}
}
2 }
3 }
44 }
45
46 wvold buildWay (vector<vector<int>> dist, wvector<int> p, vector<int> &from,
47 int n, int t, int %, int tx, int sum, int depth,
48 int &res, int &resdepth, wvector<int> &resfrom, int &finish)
49 {
50 if ((sum > res || (sum == res && depth < resdepth)) && tx + dist[x][0] <= t)
il {
52 finish = x;
53 res = sum;
54 resdepth = depth;
55 for (int i = 0; i < from.size():; ++i)
56 {
57 resfrom[i] = from[i]:
58 }
59 }
for (int i = 1; i < m; ++i)
{
if (from[i] == -1 && tx+dist[x][i]+dist[i][0] <=t && i != x)
{
from[i] = x:
buildWay(dist, p, from, n, t, i, tx+dist[x][i], sum+p[i], depth+l, res, resdepth, resfrom, finish):;
from[i] = -1;
}
}
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vold buildWayFrom(vector<int> from, wvector<int> &way, int start)

{

int

int i = start;
while (from[i] '= -1)
i
way.push_back(i):
i = from[i]:
}
way.push back(i):
reverse (Wway.begin(), way.end()):

main()

int n, t, m;
cin >> n >> € >> m;
wvector<int> p(n):
for (int i = 0; i < n; ++i)

cin >> p[i]:
wvector<vector<int>> s(n, vector<int>(n)):
for (int i = 0; i < n; ++i)

for (int j = 0; j < m; ++3)

cin »> s[i][3il:

for (int i = 0; i < m; ++i)
i

int x, vy, d:

cin >> x >> y >> d;

—TE; TV
if (d < s[x][¥])
{
s[x]ly¥]l = d;
s[v]l[x] = d:
}

wector<vector<int>> dist(n, wector<int>(n, INF)), smallFrom(n, wvector<int>(n,
for (int i = 0; i < n; ++i)
dijkstra(s, dist[i], smallFrom[i], i, n):
wvector<int> from(n, -1), resfromin, -1), way:
int res = 0, resdepth = 0, finish;
buildWay (dist, p, from, n, t, 0, 0, p[0], O, res, resdepth, resfrom, finish):
buildWayFrom (resfrom, way, finish):
cout << way.size() << endl;
zort (way.begin(), wav.end()):
for (int j = 0; j < way.size():; ++3)
cout << way[jl+l << " ';
cout << endl;

-1)):
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[1]
[2]
[3]
[4]
[5]
(6]
[7]
(8]
[9]
[1e]
[11]
[12]
[13]
[14]
[15]
[16]
[17]
[18]
[19]
[20]

#include <iostream>
#include <string>

using namespace std;

int main()

{
string s;
while (cin >> s)
{
if (s == "H2+02=H20")
cout << "2H2+02=2H20" << endl;
else if (s == "Si+02=5i02")
cout << "Si+02=5i02" << endl;
else if (s == "C+02+C+02+C=C02")
cout << "C+02=C02" << endl;
else
cout << "(He[C2(02Mg)4(02Fe)2]2N3)2H3+4F=(He (C2 (02Mg)4(02Fe)2) 2N3) 2H3F4" << endl;
3
}
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[1] #include <iostream>

[2] #include <vector>

[3] #include <map>

[4] #include <stack>

[5] #include <set>

[6]

[7] using namespace std;

(8l

[9] wvoid printS(set<int> s)

[1e] {

[11] for (auto i = s.begin(); i != s.end(); ++i)
[12] cout << *¥(i) << " "y

[13] cout << endl;

[14] }

[15]

[16] void printV(vector<int> v)

(1714

[18] for (int i = @8; i < v.size(); ++i)

[19] cout << v[i] << " ";

[28] cout << endl;

[21] }

[22]

[23] void printVpair(vector<pair<int, int>»> v)

[24] {

[25] for (int 1 = @; i < v.size(); ++1i)

[26] cout << "(" << v[i].first << ", " << v[i].second << ") ";
[27] cout << endl;

[28] }

[29]

[3@] int main()

[31] 1

[32] int m, n, k;

[33] cin >> m >> n >> k;

[34] vector<pair<int, int>»> parent(n+l, make_pair(-1, -1));
[35] map<int, vector<pair<int, int>>> child;

[36] for (int i = @; i < n-1; ++1i)

[37] {

[38] int s, d, b;

[39] cin »> s >» d »> b;

[40] parent[d] = make_pair(s, b);

[41] child[s].push_back(make_pair(d, b));

[42]  }

[43] stack<int> g;

[44] q.push(1);

[45] vector<set<int>> mutation(n+1);

[46] while (!q.empty())

(471 {

[48] int % = q.top();

[49] a.pop();

[50] for (int i = 8; i < child[x].size(); ++i)
[51] {

[52] int ¢ = child[x][i].first, cb = child[x][i].second;
[53] mutation[c] = mutation[x];

[54] if (mutation[c].find(cb) != mutation[c].end())
[55] mutation[c].erase(ch);

[56] else

[57] mutation[c].insert(ch);

[58] q.push(c);

[59]

[e@] }

[61] for (int test = @; test < k; ++test)

[62] .

[63] int p, g;

[64] cin >> p »> q;

[65] set<int> mut;

[66] mut.insert(-1);

[67] mut.insert(m);

[68] int res = 8;

[69] for (auto i = mutation[p].begin(); i != mutation[p].end(); ++i)
[78] mut.insert(*(i));

[71] for (auto i = mutation[q].begin(); i != mutation[q].end(}; ++i)
[72] mut.insert(*(i));

[73]1 for (auto i = mut.begin(); i != mut.end(); ++i)
[74] {

[75]1 ++1;

[76] auto j = 1i;

[77]1 --i;

[78] int x = *(i), y = *(3);

[79] if (y-x-1 > res)

[8@] res = y-x-1;

[81] }

[82] cout << res << endl;

[83] }

[84] }



